
 

 
 
 

Settlements change in terms of their shape, function, land use 
and the type of people who live in them over time.  
 
Firstly, the land use of the village has changed. For example in 

1980 the land was used for _farming______ and 

__agriculture__________.  

By 2010 it was used for other things as well such as ____car 

parks_________________ and a ___caravan ____ park. This shows the 

area has become more popular with __tourists______.  

 

 

Secondly, the shape has changed. For example the village has 

________grown_______ in size.  This is because by 2010 a lot 

more______homes_______________ have been built.  

___________________________________________________________________ 

These have been built because_more people want to live in 

the village______________________________ 

__________________________________________________________________ 

 
 
Thirdly, the function has changed. For example in 1980 the 

main function of the settlement was a place to _live________.  

Evidence can be seen of this from__ housing _. 

Then by 2010 the function had changed to a place to live as well 

as a place for tourists.  

Evidence of this can be seen from the holiday __homes and the 

___craft_________ museum,  

 
Lastly, the people who live in the settlement would have 

changed. For in 1980 the people who lived there probably 

would have been ____farmers__________________________. By 2010 

the people are more likely to be __ in the tourist industry _. 

This is because it is now a place where a lot of tourists 

may want to visit. There is the caravan park. Resaurants 

and lots of places to stay and things to 

do_________________________________________________ 
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